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Directions

PART—I / ENGLISH

Answer the following

questions (Q. Nos. 1 to 30) by selecting
the correct option.

1.
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Which of the following is an
imperative sentence?

(A) Sujata follows advices.

(B) Sujata may follow this advice.
(C) Sujata, follow this advice.

(D) Sujata followed the advice.

Which one of the following sentences
has the correct use of articles?

(A) During the cold winters, warm
rays of sun are great relief.

(B) During cold winters, the warm
rays of the sun are the great
relief.

(C) During a cold winters the warm
rays of the sun are the great
relief.

(D) During the cold winters, the
warm rays of the sun are a great
relief.

“Oh, good ! You have scared the dog
away”, said the girl to her mother.

The above sentence in indirect

speech will be

(A) The girl appreciated that her
mother have scared the dog
away.

(B) The girl exclaimed in fear that
she had scared the dog away.

(C) The girl exclaimed that her
mother scared the dog away.

(D) None of the above

4.

I usually play tennis in weekend.

The above sentence has

(A)
(B)

(€)

three errors

two errors

one error

(D) no error at all

(@)
(i)

I never did like her.

I never liked her.

Of the two sentences above

(A)
(B)
(€)

(D)

8y
(i)

both are correct
both are incorrect
only (i) is correct

only (ii) is correct

I'll be busy for the next week.

I'll be busy for next week.

Of the two sentences above

(A)

(B)

(€)

(D)

both are grammatically correct
and bear meanings.

both are grammatically correct

but (ii) does not bear any
meaning.
both are grammatically
incorrect

None of the above



7. My shoes don’t fit me.

/112

The above sentence

(A) can be meaningfully converted
into a passive sentence as
“I'm not fitted by my shoes.”

(B) can be meaningfully converted
into a passive sentence as
“I'm unfitted by my shoes.”

(C) is already a passive sentence

(D) None of the above

Choose the appropriate phrase to fill
in the gap in the following sentence :

The effectiveness of teaching and
learning several factors.

(A) depend in
(B) depend on
(C) depends on

(D) depend by

What you at eight o’clock
yesterday evening?

To fill in the blank spaces in the
above sentence, the correct forms of
verbs will be

(A) was, doing

(B) were, doing

(C) had been, done

(D) had, been

10. How long do you think we should

11.

12.

wait for him?

Here the ‘wh’ word refers to

(A) the main clause

(B) the subordinate clause

(C) Both (A) and (B)

(D) None of the above

“And since to look at things in bloom
Fifty springs are little room,”

In the above quotation, the word
‘room’ refers to

(A) life
(B) space
(C) time

(D) None of the above

“Singing birds sweet.”

Here the word ‘sweet’ qualifies
(A) singing

(B) birds

(C) bird meat

(D) None of the above

[ PTO



13.

14.

15.
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“A Poet could not but be gay
In such a jocund company!”

Here §ocund’ means
(A) cheerful

(B) merry

(C) Both (A) and (B)

(D) None of the above

For his insatiable hunger for
travelling, the poet blames on

(A) the easy communication facility
(B) the lure of money and fame

(C) the beauty of the stars, the sun,
the white road, and the sky

(D) his hunger for riches

The poem, Stopping by Woods on a
Snowy Evening can be interpreted as
a poem

(A) contemplating on the pull
between man and nature,
between life and death, and
between imaginative flight and
mundane necessity

(B) commenting on contrast
between life and death only

(C) emphasizing the close bond
between a pet and its owner

(D) None of the above

16.

17.

18.

“Ring out false pride in place and
blood,

The civic slander and the spite.”
Here ‘slander’ means

(A) backslide

(B) backlash

(C) Both (A) and (B)

(D) None of the above

“This way, and that, she peers,”...

Here ‘peers’ means

(A) friends

(B) looks through a hole
(C) looks

(D) walks carefully

Gitanjali (No. 30) is

(A) an original English poem of

Tagore
(B) an original Bengali poem
translated by Tagore’s

poet-friend W. B. Yeats
(C) a poem originally written in
Bengali and later translated by

Tagore himself

(D) None of the above



19.

20.

21.
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The setting of the poem,
(No. 50) is

(A) the King’s palace

(B) the beggar’s quarters

(C) the riverside

(D) the village path

Sir Walter Scott is a/an

(A) British poet

(B) Irish poet

(C) Scottish poet

(D) German poet

The story, Engine Trouble strikes

(A) an ironic note

(B) a grave, tragic note

(C) a note of political propaganda

(D) None of the above

Gitanjali

22.

23.

24.

The setting of  the
The Refugees is

story,

(A) a city in America

(B) a city in China

(C) a city in Cuba

(D) None of the above

Suresh in Most Beautiful is

(A) a mentally retarded boy

(B) a boy both mentally and

physically retarded

(C) a normal boy

(D) None of the above

Tommy’s robotic teacher was once
taken away for repair

(A) because its geography sector
had gone too fast

(B) because its history sector had
blanked out completely

(C) because its mathematics sector
had blanked out completely

(D) because its geography sector
had gone too slow

[ PTO



25. Margie’s school was

26.

27.
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(A) just next to her playroom

(B) just next to her dining room

(C) just next to her bedroom

(D) just next to her library

In Dr. Kalam’s dream, Einstein
quotes his friend

(A) Werner Heisenberg’s view

(B) Werner Gutenberg’s view

(C) Charles Heisenberg’s view

(D) None of the above

According to Dr. Kalam’s account
in Kalinga War

(A) around 200000 people were
killed

(B) around 250000 people were
killed

(C) around 300000 people were
killed.

(D) None of the above

28. Uncle Podger can be best described

29.

30.

as

(A) a man of great discipline in his
personal life

(B) a man of extraordinary talent

(C) a chaotic man in manner

(D) a very pious man

As long as the narrator’s memory
could go back, he could visualize his
grandmother

(A) as ayoung, sturdy and beautiful
woman

(B) as a short, thin and erect old
lady

(C) as a short, fat and fair lady

(D) as a short, fat and slightly bent
figure

A business letter for the purpose of
collection of dues should be

(A) direct and rude in tone

(B) very polite and apologetic

(C) polite but persuasive

(D) None of the above



Directions Read the  following
passage and answer the questions (Q. Nos.
31 to 35) by choosing the correct option.

Modern morals are a mixture of two
on the one hand,
precepta as to how to live together
peaceably in a society, and on the other
hand, traditional taboos derived originally
superstitions, but
proximately from sacred books, Christian,
or Buddhist. To
some extent the two agree; the prohibition

elements rational

from some ancient

Mohammedan, Hindu,
of murder and theft, for instance, is
supported both by human reason and by
Divine command. But the prohibition of
pork or beef has only scriptural authority,
and that only in certain religions. It is odd
that modern men, who are aware of what
science has done in the way of bringing
new knowledge and altering the conditions
of social life, should still be willing to
accept the authority of texts embodying the
outlook of very ancient and very ignorant
pastoral or agricultural tribes. It is
discouraging that many of the precepts
whose sacred character is thus uncritically
acknowledged should be such as to inflict
much wholly unnecessary misery. If men’s
kindly impulses were stronger, they would
find some way of explaining that these
precepts are not to be taken literally, any
more than the command to “sell all that
thou hast and give to the poor”.

31. The given passage gives the
impression that modern society is

(A) completely
superstition

driven by

(B) completely driven by rationality
(C) driven by chiefly superstitions
and partially by rationality

(D) None of the above
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32.

33.

34.

35.

The passage says that sins like
murder and theft are rejected by

(A)
(B)

(€)

(D)

Divine command only
human rationality only

both Divine command and

human rationality

None of the above

The word that can replace the term
‘pastoral’ is

(A)
(B)
(€)
(D)

agricultural
rural
Both (A) and (B)

None of the above

The word nearest in meaning to
literally’ is

(A)
(B)
(€)
(D)

verbatim
command
precept

None of the above

The author of the above passage
finds that most of the religious

commands

are unsuitable for

modern men because

(A)

(B)

(€)

(D)

such commands are outdated

such commands cause
unnecessary misery and trouble

most of the commands are
traditional taboos

All of the above

[ PTO
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PART—III / <i9—III
HISTORY / o2/

Directions : Answer the following
questions by selecting the correct option.

71. Biographies are the

(A) religious literature

(B) mythological literature

(C) historical literature

(D) None of the above

72. The movement of the Aryans is
known from the

(A) Boghazkoi inscription

(B) Tell el-Amarna inscription

(C) Nagsh-e Rustam inscription

(D) None of the above

73. Pliny, the author of Natural History
was a

(A) Greek traveller

(B) Roman traveller

(C) Persian traveller

(D) None of them

/112
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75.

76.

77.
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We know the names of the sixteen
Mahajanapadas from

(A) Arthasastra
(B) Anguttara Nikaya
(C) Acharanga Sutra

(D) None of the above

Buddha’s parents were
(A) Maya Devi and Suddhodana

(B) Yashodhara
Sakyamuni

Devi and

(C) Trishala Devi and Siddhartha

(D) None of them

Vardhamana, the 24th Tirthankara,
is known as

(A) Mahatma
(B) Mahapurusha
(C) Mahavira

(D) None of the above

Magadha’s gradual rise to political
supremacy began with

(A) Bimbisara
(B) Bindusara
(C) Shisunaga

(D) None of them
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79.

80.

/112

Asoka’s Dhamma was basically

(A) a socio-ethical concept

(B) a spiritual and religious concept

(C) an attempt towards publicity of
himself

(D) None of the above

How many caves are there at

Ajanta?

(A) 22

(B) 28

(C) 32

(D) None of the above

Kalidasa was the court poet of

(A) Chandragupta

(B) Samudragupta

(C) Chandragupta II

(D) None of them
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81.

82.

83.

84.
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The Aparajita style of Pallava
architecture had followed the style
of

(A) Chola architecture

(B) Mauryan architecture

(C) Gupta architecture

(D) None of the above

The Taxila University was flourished
in the days of

(A) Alexander
(B) Kanishka
(C) Harshavardhana

(D) None of them

Which two  battles laid the
foundation of Turkish rule in North
India?

(A) Battle of Ranthambore and

Ajmer
(B) Battle of Tarain and Chandawar
(C) Battle of Peshawar and Ajmer

(D) None of the above

Bandegan-i-Chahalgani on the Forty
was introduced by

(A) Itutmish
(B) Raziya
(C) Balban

(D) None of them
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86.

87.

88.
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Diwan-i-Arz was a

(A) department of trade and

commerce
(B) department of military affairs
(C) department of cultural affairs

(D) None of the above

Which one of the following
monuments is not located in the
Qutb enclave?

(A) Qutb Minar

(B) Alai Darwaza

(C) Balban’s tomb

(D) None of the above

Which one of the following mosques
is an example of the Jaunpur style
of architecture?

(A) Adina Mosque

(B) Atala Mosque

(C) Lantan Mosque

(D) None of the above

In the era of Sultanate, Vidyapati
Thakur was a great scholar of

(A) Marathi literature
(B) Maithili literature
(C) Bengali literature

(D) None of the above
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The author of
was

Ramcharitamanasa

(A) Mira Bai
(B) Kabir
(C) Tulsidas

(D) None of them

Babur destroyed the Afghan chiefs
of East India in the Battle of

(A) Khanua
(B) Ghagra
(C) Kanauj

(D) None of the above

Sher Shah was

(A) a reformer and conqueror
(B) an innovator and conqueror
(C) a reformer and innovator

(D) None of them

Who among the following Mughal
emperors is known as the Indian of
Indians’ ?

(A) Humayun
(B) Akbar
(C) Shah Jahan

(D) None of them
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In 1665, the Treaty of Purandar was
signed between

(A) Jai Singh and Shivaji

(B) Shayesta Khan and Shivaji

(C) Afzal Khan and Shivaji

(D) None of them

Who among the following Mughal
emperors patronized painting?

(A) Babur

(B) Akbar

(C) Shah Jahan

(D) None of them

Where did the English first open
their factories in Eastern India?

(A) Bengal

(B) Bihar

(C) Orissa

(D) None of the above
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From Bengal the
exported

English largely

(A) sugar
(B) silk
(C) salt

(D) None of the above

Who abolished the Dual-government
in Bengal?

(A) Clive
(B) Verelst
(C) Hastings

(D) None of them

The names of Sir Thomas Munro
and Captain Read were associated
with the

(A) Permanent Settlement

(B) Mahalwari Settlement

(C) Ryotwari Settlement

(D) None of the above

Vidyasagar supported the
(A) Caste system

(B) Kulinism

(C) Sati Pratha

(D) None of the above
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100. ‘Bharat Pathik’ was 100. ‘SIS A foesm
(A) Raja Radhakanta Deb (A) T AYFW W
(B) Raja Rajchanda Das (B) ST ATEHY W
(C) Raja Rammohan Roy (C) AT AT A

(D) None of them D) S T T

101. Sir Syed Ahmed Khan was the

leader of the 101. T ORI SI=CT7 41 e
(A) Wahabi Movement (A) SRR SACTRCER (Tl
(B) Khilafat Movement (B) ST SICHIETCT (Tl
(C) Faraizi Movement (C) TG ST (Tl
(D) None of the above (D) TR @52 7y

102. With whose name is the Safety Valve

theory related? 102. OR=F(b ©ig Ogh P TCNE A T 2

(A) Lord Dufferin (A) TE TP
(B) A. O. Hume (B) 9. <. f2Ty
(C) W. C. Bonnerjee (C) Tg. Pl S
(D) None of them (D) 9T (T2 7
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The First Session of the Indian
National Congress was held in

(A) Calcutta
(B) Madras
(C) Bombay

(D) None of the above

Who proposed the ‘Rakhi Bandhan’
in the time of the Partition of
Bengal?

(A) Aurobindo Ghosh

(B) Rabindranath Tagore

(C) Bipin Chandra Pal

(D) None of them

The Surat Split was occurred in the
year

(A) 1905
(B) 1906
(C) 1907

(D) None of the above

Who became a martyr in the
agitation  against the Simon
Commission?

(A) Bipin Chandra Pal

(B) Bal Gangadhar Tilak

(C) Lala Lajpat Rai

(D) None of them

21

103.

104.

105.

106.

TR SOl FACE A K

TS 2R
(A) ISR

(B) s
(C) @FCe

(D) TR (@DR

e W@ (@ [AREA -GF ABA
CET?

(A) SER™ TR
(B) FArma IF
(C) Ri*FET “I=

(D) T (T3 T

B FCRN 22
(A) 1905 Ice
(B) 1906 ICeT
(C) 1907 Ice

(D) T°[Cad (FID2

BT P [ e (FO%Em
TR ?

A) RfermE «ie
(B) IR oo
(C) =TT F&[© A2
(D) 4MF (T2 o

[ PTO



107.

108.

109.

110.

/112

Dandi is situated at the coast of
(A) Odisha
(B) Kerala
(C) Gujarat

(D) None of the above

The pen name of Rashbehari Bose
was

(A) M. N. Roy
(B) P. N. Thakur
(C) R. S. Sharma

(D) None of them

Which of the following movements
was called August Movement?

(A) Non-Cooperation Movement
(B) Civil Disobedience Movement
(C) Quit India Movement

(D) None of the above

How many major European Empires
were destroyed in the World War I?

(A) 2
(B) 3
(C) 4

(D) None of the above
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PART—IV / Sis—IV
GEOGRAPHY / gUolle]

Directions : Answer the following questions | fciP : 7% Teq fodion Fca T ryafe
by selecting the correct option. Teq 1 |

111. The diameter of the galaxy is about 111. 2R 211 29 2

(A) 224x10° years (A) 224x10° 9=

(B) 140x10° light-year (B) 140x10° SceT=y
(C) 10° light-year (C) 10° e

(D) None of the above (D) o TR

112. In Northern hemisphere, the
summer solstice is on

112. Teg coleey FEeIfE =

(A) 21st June (A) 21 ¢Tea

(B) 21st December (B) 21 ¢ ferrss
(C) 21st March (C) 21 ¢

(D) None of the above (D) A& (@b

113. An accurate time of a place is

113. &35 B 2o Ty @ 31 =2
determined by the =

(A) wall clock (A) creae qfE
(B) chronometer (B) CEFICIRGR =il
(C) sextant (C) GG [l

(D) None of the above (D) TR @FEve T
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115.

116.

117.

/112

Calculate the local time at Agartala
(91°15’" East), when the Greenwich
time is 12 noon.
(A) 6:05 evening
(B) 6:05 morning
(C) 6:00 evening

(D) None of the above

The point vertically above on the
earth’s surface from the focus is
called the

(A) epicentre

(B) anticentre

(C) hypocentre

(D) None of the above

Active volcanoes are found along the
(A) Pacific Ocean coast

(B) Andaman Islands

(C) Midoceanic ridges

(D) None of the above

The world’s highest volcano Mauna
Loa is located in the

(A) Andaman Islands
(B) Hawaii Islands
(C) Lipari Islands

(D) None of the above
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Ferric oxide is transformed through
the process of

(A) carbonation
(B) hydration
(C) oxidation

(D) None of the above

Pothole formation is related with the
process of

(A) corrosion
(B) attrition
(C) solution

(D) None of the above

Sandbank is formed in the river
valley course of

(A) mature stage
(B) old stage
(C) young stage

(D) None of the above

Monadnock formation is related with
the

(A) fluvial cycle of erosion
(B) arid cycle of erosion
(C) karst cycle of erosion

(D) None of the above
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Lapies are the erosional features in
limestone region, which are found in

(A) England
(B) France
(C) Kentucky

(D) None of the above

Along the path of a glacier, the hard
rocks form a steep slope of
mountain called

(A) tail

(B) arete

(C) crag

(D) None of the above

Inselberge is the erosional residual
hills in

(A) Sahara Desert
(B) Kalahari Desert
(C) Thar Desert

(D) All of the above

The Roaring Forties are bounded
between

(A) 40°-60° S latitude
(B) 40°-70° S latitude
(C) 40°-60° N latitude

(D) None of the above
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The feather-like cloud is known as

(A) cirrus
(B) stratus
(C) cumulus

(D) None of the above

The ocean current is mainly caused

by
(A) planetary winds
(B) earth’s rotation

(C) variation of temperature
salinity

(D) All of the above

Stampedes are included in
(A) natural disaster

(B) man-made disaster
(C) nuclear disaster

(D) None of the above

Mumbai High is famous for
(A) oil refining centre

(B) natural gas centre

(C) iron ore producing centre

(D) None of the above

and
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Asian largest windmill farm cluster
is located in

(A) Rajasthan
(B) Tamil Nadu
(C) Kerala

(D) None of the above

Extensive commercial
found in the

farming is

(A) tropical region
(B) temperate region
(C) subtropical region

(D) None of the above

Which iron and steel centre is
located in USA?

(A) Barmingham-Alabama region
(B) South Wales
(C) Linconshire

(D) None of the above

In India, BALCO is related with the
(A) petrochemical industry

(B) cotton textile industry

(C) aluminium industry

(D) None of the above
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Panipat and Mathura in India are
famous for the industry of

(A) petrochemical
(B) paper
(C) jute

(D) None of the above

The major north-flowing river in Asia
is

(A) Yanesi
(B) Ob
(C) Lena

(D) None of the above

The diversified factors of climate in
Asia are

(A) latitudinal and altitudinal

extension
(B) continentality and wind pattern

(C) mountain barrier and ocean
current

(D) All of the above

The Maharashtra plateau is the

part of

(A) the Chota Nagpur plateau
(B) the Malwa plateau

(C) the Deccan plateau

(D) None of the above
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‘B’ type climatic region of India is
situated in

(A) Tamil
Pradesh

Nadu and Andhra

(B) Rajasthan and Gujarat
(C) Punjab and Uttar Pradesh

(D) None of the above

The climate of Tripura is
(A) wet subtropical

(B) humid subtropical

(C) dry and wet subtropical

(D) None of the above

The storehouse of minerals in India
is

(A) the Deccan plateau
(B) the Chota Nagpur plateau
(C) the Bundelkhand plateau

(D) None of the above

The native flower of Tripura is
(A) Kadamba
(B) Nageswar
(C) Champa

(D) None of the above
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142. The Yangtsi-kiang basin is the | 142. 2A=MRAER SRS 7R Iz

greatest producing region in TeE S |
the world.
A) fou1
(A) tin
. (B) Ters
(B) zinc
(C) TR

(C) tungsten

(D) All of the above (D) Toe s

~ ~
143. The main cotton textile centre of | 143. I AL TER (FUIL ST
Japan is located in

(A) SAFICS
(A) Osaka

(B) =TeIpIReCe
(B) Nagasaki

(C) ffac
(C) Keihin

(D) Tfcad TRgfers
(D) All of the above

, : 144, ORCSH AW 2olfel  Miiece G
144. The first Jute mill of Hoogly

industrial belt in India was set up at e 2

(A) Belur (A) CeCe

(B) Rishra (B) freice

(C) Tribeni (C) fadice

(D) None of the above (D) TR @Fbe T
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The locational advantage of Bokaro
steel plant is

(A) coal from Raniganj

(B) iron ore from Palamou

(C) manganese from Chaibasa

(D) None of the above

The black soil region of Deccan is
famous for the industry of

(A) sugar refining

(B) paper

(C) textile

(D) All of the above

The Nicobar Islands are separated
from the Andamans by the

(A) Duncun passage

(B) Ten Degree Channel

(C) Indira point

(D) None of the above
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Cloudburst is a significant event of

(A) hazard

(B) disaster

(C) Both (A) and (B)

(D) None of the above

Mozambique current is a warm
current which is found in

(A) the Pacific Ocean

(B) the Atlantic Ocean

(C) the Indian Ocean

(D) None of the above

Bhakra Hydel Power Centre is

located in

(A) the Sutlej river of Punjab

(B) Sarabati river of Karnataka

(C) Narmada river of Maharashtra

(D) None of the above
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

feraferiRre et st wea =g -

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2(feTh ziesa Teq 231 @ bRl {55 (redl SIieR o (AT I wa TRt e OMR Teweicg (redl el FIcE 7D
T A ST]efCe] T e e T90e 76d | 91 Taw e w11 20 ¢olee O S/ ARag 591 A Al |

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AL GFICTSIE2 OMR Tea2[@fb 1% FC3 =11 | OMR T@RI0E (TR Wil 161 A1 T4 (11 A =11 | A_rI S1ew
(e FE TeReId 8 1 Sl =l S (e GRS e o

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TE17[@ 3% 2P0 IRICH P o] SReTge 0O 23 | (FICT SR (Y09 Ffb € “Mafosre @b 2el) OMR Teao[@
S ZP7@ #I[C°H (TS A =11 |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

QPRI SHCHCEH #Mo-9 O OMR TEI7ad FIFE &R 2eoas MFE fgererd fordee 2 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

RPN SHCHE FIE G2 FCH! SRCTADBD PG BT STy (HICA QA T (T2 P&, 7071 S JUETS TN, (I, (IR e,
TR (FICTRTN 2GS (GO I #[R11 3031 /F0F 2@ FA00 Weql 3 11 |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator /Examination Officials.

] 2CF1 TSGR T (BN 2] (FCHR T0cq APl -1H8 ST FE Wi F1 203 2T R O TG IS €
OO SRCTADID IS (FICS 0 ARCI |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTOR FAAIRACECTS 11 Tfefesba-ag [eem SFRie 2ol « Rl [ 2 OiF T 2 #fR-é F90e =3 1 |
Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

RIS TSSO (TS SHICHCS™ Nb- G2IR FF FACS 3¢, AR #FF] 2CE S TP 220°TH 79 G3R Ao
TfefEcetea 995 OMR Yea7@ &l (TS| 9 |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

SCGCTH M1b-« (B FIHHA T GR PGS BATS GG -7 10 G-I Tl (763 8T (T~ ] 22 opial T
R A1 | A PG R SHChee™ Mb-9 YEIR R 0 S ©cd fof W OMR T&97@ &l FCIelel ¢ 9197 203 93 O
wrfoe T f2oea @ 2 |

Use of any type of calculating device is prohibited.

@ (R R FAFCABES T2 Tl fifdm |

The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

[ 29 /FCFA T AN SABA @CET 7= ¢ Wil SRR bifeTe 203 | 9 4hes SEhe IR @CE RN ¢ e
S e 2 |

No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(I TREICSR 2PI7@ 993 OMR  TGRA[Cas (T S (RIS 511 AC 1 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.

*[ Q] (T 2EAF 71T “RrFIA T2 O OMR TEa7[@ TS0 SASIGCABCRT FIC= S (7 | AFFIRTAT 2Pe1afb Siovd e
ferca e #I1ea |
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